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1. (a) Investments involve long-term commitments.

Comment. (5)

(b) Mr. Prasad has purchased shares at 100 each in
the beginning of year 2017 for five years. The
market price at the end of each year and dividend
for the year are given below. Calculate average

rate of return and risk of the security.

Year 2017 [ 2018 | 2019 | 2020 | 2021
Dividend® | 4 | 55 | 65 6 55
Market Price %) | 105 | 110 | 120 | 132 | 143
(10)
OR

(a) What are the sources of risk in an investment?

Explain and elucidate. (5)
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(b) The following two securities have been selected

by an investor.

Probability | Retum on X Paumon¥ |
l‘ (y 41 12% 2 1
i 0.30 %% 5 |
z 0.30 5% L 4%

Find out the expected rate of return and risk of

both the securities. Which security should be

selected and why? (19)

(F) Faw ¥ SdEifes demeam e 21 fzem
EZiEEd

(@) 4 vEre ¥ 99 2077 #1 AeaAm # 4 3 %
7100 9% W a7 @a2 2 9EE 9% & Fa A
oA FA A7 99 % fow A A" e w2

EaiEied
a7 2017 | 2014 2019 2(20) 2012]
TN (Z) 4 5.5 0.5 H 5.5
FTAT 7 ( 2) 105 110 120) 132 143
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2. (a) What is meant by yield to maturity? How is it

calculated?

(3)

(b) Following information is available in respect of a

bond :
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Face Value %1000
Market Price X875
Coupon Rate 9%
Expected rate of return 10%
Maturity 4 Years

Find out YTM and Intrinsic value of the bond.
Should an investor buy this bond based on YTM

and Intrinsic value? (10)
OR

(a) Differentiate between callable and putable bonds.

(5)

(b) Dhani Ltd. is proposing to issue 10% bonds of
face value of Rs.200 each redeemable in five
annual installment of Rs.40 each every year for 5
years. If required rate of return is 8%, find out

the maximum price an investor can pay for this

bond? (10)

(37) wRugaar W wlahel &1 w0 3 27 TEHl AU A
@ S 87

P.T.O.
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3. (a) “A technical analyst places too much emphasis on

the past and present level of prices and demand
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and supply.” Critically examine. (5)

(b) Following information is available in respect of

QD Ltd. for the year 2020-21.

Equity Share Capital (FV=X100) Z20,00,000
10% Preference Share Capital Z10,00,000
Reserve and Surplus Z3,00,000
12% Secured Loan Z5,00,000
8% Debentures Z10,00,000
Annual Turnover Z25,00,000
Operating Profit 20%
Dividend Payout Ratio 60%
Tax rate 30%
P/E Ratio 15

You are required to find out (i) EPS (ii) DPS (ii1)
Market Price (iv) Earning Yield (v) Dividend
Yield. (10)

OR

(a) What are the major sources of information used

in the fundamental analysis and technical analysis?

(5)

P.T.O.
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(b) Zaved Lid. has just paid a dividend of 34
per

sharc. The company is now planning , Major
rcorganization of its operations and ag 4 part of
(his reorganization, it has stated that it docg fiot
pay any dividend for the next two years, It wjj
commence paying dividend of Rs.8 per share frop,
(he third yecar with an expected growth rate of

12% p.a. thereafter.

If the reorganization does not take place
dividend will be paid in the next two years and the

expected dividend growth rate will remain at the

present level of 5% p.a. The equity capitalization

rate is 18% and will be unaffected by the

reorganization.

Calculate the value of the firm’s share in both the

situation. (10)

(1) = e e L G

R ok o8 ®R W agd St Wk I B
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(¥) =% 2020-21 & fow =@ R & wau ¥ Fefafaa

FEEN ITER 2
TES AT @D FV=300) 220.00.000
10% FHaAT S9< $= 210.00.000
12% T = =, U,
L 210.00.000
g0 B=E5= 225.00.000
FTRT TS 20%
SIREIR GRS IR 60%
TS SEET AT 30%
e ) 15
$ /T S

st (i) EPS (ii) DPS (iii) e w=d (iv) ST
= (v) R A Feer 2

a1
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(a) “Capital Market Line shows all the combinations
of risk-free investment and the market portfolio.”
Explain in the light of this statement meaning and

features of Capital Market Line (CML). (5)

(b) The return on the market index is 18% and the
risk in terms of the standard deviation is 5%. If

the risk free asset offer return of 10%.
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(1) In what proportion will you divide your
funds between the market index and risk-
free asset so as to have a portfolio offering
return of 16%. What will be the risk of

this portfolio?

(ii) In case you wish to earn return of 20%, is

it feasible, how?

(iif) What would be the risk of the portfolio

constructed in (ii)? (10)
OR

(a) “The process of diversification cannot reduce the

risk of the portfolio”. Do you agree? Discuss.

(3)

(b) You are provided with the following risk return

profile of four different portfolios:

Portfolio Return Risk (op)
(Rp)

A 30% 18%

B 24% 16%

C 23% 13%

D 20% 14%

P.T.O.
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Ihe return ol stock market dndex in 20% iy,
standard devintion of 10% and that on risk fre
socuritics in 9%, Which of the above portfolio are

efficient on the bagis of CML cquation? — (10)

(3r) “eblies e wger ke g B we wsm
aFmRR A W wAsE g wld g w4,
giear A Afiee weie dgEw (CML) @ o ok

v @) e @Rk

(@) IR gEes R/ Ret 18% B ok e Free @ e
¥ MRt 5% #1 Al SRawr e wufkr 0% @ e
WeT B

(i) 3T 39 T A Aehe geed T Rew - THT
& W e sque A aed, @i Awifear A
16% < Reet fier a1 g8 Wwiferar 1 Raw
41 ghm ¢

(i) af¥ sma 20% 1 Rt sifvia wem =6 8, @

1 g% 999 8, 947
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(F) S TR I - 30T qehiferad & Freferaa sifew
Rt MwEd e fFw s @

qEHTerET Tt SIER:S
(Rp) (Gp)

A 30% 18%

B 24% 16%

C 23% 13%

D 20% 14%

Wi AT T T R 10% & A [Sad= & 9™
20% B IR RaW Fad WA W 9% Bl IS
F T F-ar Qchel ATHTA TS & IUR W

ST &7

5. (a) List out some of the grievances of Investors. How

can they be addressed? (5)

P.T.O.
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(b) An investor buys a call option that can be

excrcised after four months at a strike price of
Rs.91 for a premium of Rs.6. The current market
price of the share is Rs 78. What is the option
exercise status, if market price of the share is
Rs.68, Rs.72, Rs.78, Rs.92, Rs.101, Rs.102 or
Rs.105 on the expiration date? Find out the profit

or loss of the investor at different prices. Show

the payoff graphically also. (10)
OR

(a) Stock exchange play an important role in

safeguarding investors. Discuss. (5)

(b) A Mutual fund accumulated Rs.5,00,000 by issuing
50,000 unit in the beginning of a financial year. It
invested Rs.4,50,000 in the corporate securities
whose present price and the price at which mutual
fund invested is given along with the return

generated to the mutual fund from these securities.

Investment Value at the Value at Income
beginning the end
Equity 1,75,000 2,13,000 30,000

Debenture 2,25,000 2,35,000 26,000
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Govt. Security S0.000 51.000 3,750
R 3.75

The mutual fund incurred an expense of Rs.18.500
N TEP SN » D
) 1

during NAYV of the mutual fund at the end of the

year. Find the NAV of the mutual fund
of the vear.

at the end

(10)

() ﬁ%ﬁﬁ@ﬁmﬁﬁmlﬁ%ﬁw&a
far <1 g=ar 27

(F) = o= Us =ia 3ieq adear € R 918 S
T 9 91 F KIS 9 W 6 D NREH W TFa@ms
ferdT ST G&hdl B A AT HAlelel 9NIR 49 378 21 Ife

o f9f . IR =1 9k T 368, 372, 378, 392,
7101, %102 4T 105 B, o AT UFEESS A ohl
Rafy =1 27 A= <l W g & o A st
=T 997 SAME| JEEEAT F FAEEd §F § S IWisV
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(1) wier wersior P o gean ¥ v wEAT
freqrar 21 ==l il

(=) v faig ad & Tesd A 50,000 dffie TG HTH TH
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RGNS WS A 15,00,000 S AT T hiie gy
Y 4,50,000 a1 AW fvan, Brwwt & =7 3k o
e W g 63 ¥ Raw a2, 3 afndfaar )
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Investment Value at the Value at  Income
beginning the end

Equity 1,75,000 2,13,000 30,000

Debenture 2,25,000 2,35,000 26,000

Govt. Security 50,000 51,000 3,750

AT ®S 7 AN & IAd A TANA ®hY B TAE B
IR 18,500 T @ ATl 9§ & iq ¥ WA "
e 1o | Lo

(3000)



